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Symmetric PRIME PPsets on the BIM  *For any given EVEN, counting from the YELLOW (EVEN/2 squared=Axis?) to the RIGHT = the STEPS of the Axis2 to the given P+ of that PPset. Counting
This paper and all its contents ® 2020, Reginald Brooks. Al tN€ OppOsite way, from the last entry on the BLUE Row, left to the Darkened BLUE value = Py of that PPset.
ermission s hereby g o s et be made o persona, non. | =XAMPLET EVEN 30 (line 13) has EVEN/2=Axis=15 and 152 = 225 in YELLOW. There are 3 Rows in YELLOW for the EVEN = 30, thus 3 PPsets.
e et e e e ns oo oot e s reretes For the 1st Row, count over from the YELLOW 2 STEPS to 120. This is the STEPS value. From the END of the BLUE Row, count back to 120. It gives 7=P1.
O O oy oted s 1 aunorenip g source. o "¢ For the 2nd Row, count over from the YELLOW 4 STEPS to 240. This is the STEPS value. From the END of the BLUE Row, count back to 240. It gives 11=P.
For the 39 Row, count over from the YELLOW 8 STEPS to 480. This is the STEPS value. From the END of the BLUE Row, count back to 480. It gives 13=P.




